
ADMIRAL

12INCH MITER SAW ADMIRAL

Item# 57839

UPC: 193175424181

Part# Description Diagram Ref# Price

21419 LED LIGHT 185 $1.51

21425 DOUBLE SWITCH 191 $2.00

25865 MITER LOCK KNOB 37 $3.14

25868 BEVEL STOP BLOCK 65 $1.98

25869 SPINDLE 101 $1.79

25897 CARBON BRUSH 114 $1.98

25901 BRUSH HOLDER 115 $1.98

25912 HANDLE 162 $1.95

25913 UPPER HANDLE 164 $4.65

25915 PIN 165 $1.98

25926 TRANSFORMER 192 $5.36

25948 LASER SEAT 207 $1.98

600548 BEVEL HINGE 50 $13.25

600551 DUST OUTLET 142 $1.98

601364 SWITCH 171 $2.71

601552 LOCK-DOWN SPRING 52 $1.98

601555 LOWER HANDLE 174 $5.90

601557 DUST BOARD 216 $1.98

602321 LASER COVER 212 $1.98

603034 MITER LOCK KNOB WASHER 38 $1.98

UPC: N/A

Part# Description Diagram Ref# Price

21414 KERF BOARD 42 $1.51

21416 DUST COLLECTION BAG 141 $2.00

25373 RIGHT FENCE EXTENSION 25 $5.36

25374 LEFT FENCE EXTENSION 24 $5.36

25381 M6X32 WING SCREW 19 $1.98

25422 M6X25 TABLE EXTENSION KNOB 8x2 $1.98

25428 BEVEL LOCK LEVER 30 $1.98

25430 MITER DETENT LEVER 33 $1.98

25436 HEAD LOCK-DOWN 53 $1.98

25444 BELT 148 $8.42

25462 ARBOR ASSEMBLY 88-90, 92 $15.40

25468 LOCK KNOB SET 79, 80 $1.98

25483 FOOT ASSEMBLY 2x4, 3x4 $1.98

25529 CLAMP ASSEMBLY 198-205 $5.21

25559 LOWER BLADE GUARD ASSEMBLY 15, 64X2, 71, 128X2, 129X2, 130 - 140, 182X5 $10.00

25864 FENCE 18 $8.20

ADMIRAL

12INCH MITER SAW ADMIRAL

Item# 64686

Legacy UPC:  792363646864    |    UPC:  792363646864

Part# Description Diagram Ref# Price

21419 LED LIGHT 185 $1.51

21425 DOUBLE SWITCH 191 $2.00

25865 MITER LOCK KNOB 37 $3.14

25868 BEVEL STOP BLOCK 65 $1.98

25869 SPINDLE 101 $1.79

25897 CARBON BRUSH 114 $1.98

25901 BRUSH HOLDER 115 $1.98

 
Replacement Parts

Parts, prices and availability are subject to change without notice

Please ensure the item number matches the item you purchased Rev 2023.010a



 
Replacement Parts

25912 HANDLE 162 $1.95

25913 UPPER HANDLE 164 $4.65

25915 PIN 165 $1.98

25926 TRANSFORMER 192 $5.36

25948 LASER SEAT 207 $1.98

600548 BEVEL HINGE 50 $13.25

600551 DUST OUTLET 142 $1.98

601364 SWITCH 171 $2.71

601552 LOCK-DOWN SPRING 52 $1.98

601555 LOWER HANDLE 174 $5.90

601557 DUST BOARD 216 $1.98

602321 LASER COVER 212 $1.98

603034 MITER LOCK KNOB WASHER 38 $1.98

Legacy UPC:  792363646864

Part# Description Diagram Ref# Price

603035 MITER LOCK KNOB WASHER 38 $1.98

21414 KERF BOARD 42 $1.51

21416 DUST COLLECTION BAG 141 $2.00

25373 RIGHT FENCE EXTENSION 25 $5.36

25374 LEFT FENCE EXTENSION 24 $5.36

25381 M6X32 WING SCREW 19 $1.98

25422 M6X25 TABLE EXTENSION KNOB 8x2 $1.98

25428 BEVEL LOCK LEVER 30 $1.98

25430 MITER DETENT LEVER 33 $1.98

25436 HEAD LOCK-DOWN 53 $1.98

25444 BELT 148 $8.42

25462 ARBOR ASSEMBLY 88-90, 92 $15.40

25468 LOCK KNOB SET 79, 80 $1.98

25483 FOOT ASSEMBLY 2x4, 3x4 $1.98

25529 CLAMP ASSEMBLY 198-205 $5.21

25559 LOWER BLADE GUARD ASSEMBLY 15, 64X2, 71, 128X2, 129X2, 130 - 140, 182X5 $10.00

25864 FENCE 18 $8.20

25951 LASER HEAD 211 $1.98

Parts, prices and availability are subject to change without notice

Please ensure the item number matches the item you purchased Rev 2023.010a


